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SUBJECT:
MATHEMATICS
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Q. NO. VALUE POINTS SPLIT UP OF
MARKS
1 Let g(x)=cosx and h(x) = x* Each step
f=geh carries> mark
g and h are continuous function 2
conclusion
2. My Each step
y= tan’lM, put x=tan 1
X carries= mark
g 0 2
y=tan (cotz)
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2 2
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Tdx o 201+ x?)
3.
Finding LHL and RHL 1 1
2
Conclusion 1
2
4. x=a(@+sind) ; y=a(l-cosh) 1
ax_ a(1+cose);ﬂ:asin¢9 2
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5. Let u=x""* and v = (sin x)*** 1
_ dy du dv 2
=>Vu+V—o>—=—+—
dx dx dx
du sinx sin x . 11
— =x""cosxlog x+ e EEEEEEEE (i 2
dx X
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i (sin x)™* [~ sin xlog Sin X + COSX COt X | ~=nm--=====---- (ii) 5
X
. 1
% = xs"‘{cosxlog x+%} +(sin x)°*[-sin xlog sin x + cosxcotx] 2
X X
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y= (sm x)
Differentiating both sides w.r.t.x,
dy 2sin™x

:_ —_—
dx J@-x?)
= w/(1—x2)%: 2sin™" x
X

Squaring & differentiating both sides w.r.t.x
and proving

f is continuous at x =2 and x = 10
Continuity at x = 2

=28+ b = Beeemeemeeeeees ()
Continuity at x = 10
=10a + b = 21------------- (i)

Solving (i) & (ii)
Final answer:a=2&b=1

Each step carries
1 mark




